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General Instructions:

¢ Reading time — 5 minutes

e Working time — 3 hours

o Write using black or blue pen
Black pen is preferred

¢ Board-approved calculators may
be used

o A table of standard integrals is
provided at the back of this paper

e In questions 11 — 16, show
relevant mathematical reasoning
and/or calculations

o Answer all Questions in the
booklets provided
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e Attempt Questions 11-16
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Section |

10 marks
Attempt Questions 1-10
Allow about 15 minutes for this section

Use the multiple-choice answer sheet for Questions 1-10.

1 What is —/3 +i expressed in modulus-argument form?

T .. 7T
(A) \/2(cosg+|sm€)
T . . T
(B) 2(cosg+|smg)
57 .. brx
©) \/2(cos?+|sm?)

(D) 2(c055?”+ isin %T)

2 The sketch of the locus of an equation |z —3|+|z+3|<10 where z =x+iy can best be

represented by.
(A) y (B) y




2
Which of the following expressions is equivalent to J\/4 —x%dx.
0

(A) 7

B) 2r
(C) 4r
(D) 8r

Which expression is equal to I

;dx')
J4x* —8x+5

*) %sin‘l 2(x—-3)+C

(B) %cos‘l 2(x-3)+C

(C) lIn x—1+,/x2—2x+§ +C
2 4

(D) 1In x—1+,/x2—2x—E +C
2 4

If a,b,c,d, and e are real numbers and a = 0 , then the polynomial

equation  ax’ +bx® +cx’ +dx+e =0 has.
(A) only one real root.

(B) at least one real root.

(C) an odd number of nonreal roots

(D) no real roots

Suppose that a function y = f(x) is given with f(x)>0 for 0 < x <4. If the area bounded
by the curves y= f(x), y=0, x=0, and x =4 is revolved about the line y =-1, then the volume

of the solid of revolution is given by.
4

(A) « .[f(x—l)z—l]dx

(B) 7;4.[( f(x)-1) —1} dx

0
4
]

) m|[ f(x+D*—1]dx

D) = 4.[( f(x) +1)2 —1} dx

0




7

Use the following information to answer the next question.

A conic is graphed using technology, and is shown below. The distance

between the x-intercepts is 2411 units, and the distance between the
y-intercepts is 10 units.

The equation of the graph shown above is.
2 2

25 44

2 2
® Xi+¥

44" 25

2 2
© 2-+L -1

25 11

X2 y2
D) —+=—=
) 117 %

If 3x* +2xy + y* = 2, then the value of % at x=1is
A -2

(B) 0

(C) 4

(D) not defined
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10

Which diagram best represents the graph y* = (x—1)(x—3)* ?
y

&
Ok

(B)

&

b‘
4
3
2

1
0

y

A

A

-2 -1

(©)

2 -1

(D)

A person is standing on the outer edge of a circular disc that is spinning. His relative position on
the disc remains unchanged. Which description below best describes the situation?

(A)
(B)
(©)

(D)

The person is experiencing a force that is pushing him away from the centre of the disc.
The person is experiencing a force that is pushing him towards the centre of the disc.

The person is experiencing a force tangential to the edge of the disk in the direction of the
motion of the disk.

The person is experiencing a force tangential to the edge of the disk in the direction of the
opposite direction to the motion of the disk.



Section 11

90 marks
Attempt Questions 11-16
Allow about 2 hours and 45 minutes for this section

Answer each question in a SEPARATE writing booklet. Extra writing booklets are available.

In Questions 11-16, your responses should include relevant mathematical reasoning and/or calculations.

Question 11 (15 marks) Use a SEPARATE writing booklet.

a) If 2 =3+4i, z,=1-i , find

b) Sketch separately the following loci in an Argand plane and state the cartesian equations in

each case.
7-2

i Re| —— (=0

o w3

(ii) arg(z+2):—%

. 1+2x° . A B
c) (i) Express ———————— inthe form ——+
) () Exp (2+x2)(1+x2) 2+%% 14X

1+sin? x)dx
( )

(i) Use the substitution t =tan x and your answer from part (i) to find I 5
1+cos” x

(Leave your answer in term of t )



Question 12 (15 marks) Use a SEPARATE writing booklet.

a) If argz, =0 and argz, =¢ , show thatarg (ﬁ] =arg(z)—arg(z,)
z

2

b) The equation z° +(1+ i) z+k =0 has root 1- 2i . Find the other root, and the value
of k.

c) Let a, B, be the roots (none of which is zero) of x*+3px+q=0
(i)  Find expressions for a+ g +y ,af+ By +ay and affy

(i) Find an expression for %+&+%
a

/4

ap by b re Pr rx

(iii)  Find an expression for
y « y B a p

(iv)  Hence obtain a monic equation whose roots are %,&,%
v (24
fodx 1
d) Show that j ~=>In2
v 9-Xx" 6



Question 13 (15 marks) Use a SEPARATE writing booklet.

a) The shaded region bounded by y=3-x* , y=x*—-x and x =1 is rotated about

the line x =1 . The point P is the intersection of y=3—x* and y = x> —xin the
second quadrant.

i) Findthe x coordinate of P.

i) Use the method of cylindrical shells to express the volume of the resulting
solid of revolution as an integral [DO NOT SOLVE THE INTEGRAL]

1
b) (i) If u, =i|.|'x”e‘*dx, where n>0 , show that ilze(unfl—un)
nly n!

(if) Hence find the value of u,

c) If a,b,c are positive real numbers;

i) Show that a* +b* > 2ab

i) Hence prove (a+b+c)(l+%+%29
a c

d) If z,,2, are two complex numbers such that |z, +z,| =|z, - z,|, show that

T
argz -argz, ==



Question 14 (15 marks) Use a SEPARATE writing booklet.
a) f(x) is defined by the equation f(x)= x> (x —gj , on the domain -2 < x<2.

Note: each sketch should take about a third of a page.

i) Draw a neat sketch of f(x) , labelling all intersections with
coordinate axes and turning points

ii Sketch y=——
i) etch y )

i) Sketch y=/T(x)
iv)  Sketch y=1In(f(|x))

b) The points A, B, C and D lie on the circle C. From the exterior point T, a tangent is drawn to

point A on C. The line CT passes through D and TC is parallel to AB.

i) Copy or trace the diagram onto your page.

i) Prove that AADT is similar to AABC .

The line BA is produced through A to point M, which lies on a second circle.
The points A, D, T also lie on this second circle and the line DM crosses

AT at O.

iii) Show that AOMA is isosceles.

iv) Show that TM =BC .



Question 15 (15 marks) Use a SEPARATE writing booklet.

2) Giventhat [ f(x) dx=] f(a-x) dx, find [ dx 2
5 0 v 1+C0s” X

b)  The hyperbola H has an equation xy =9. P(3 p%] where p >0, and Q(3q,%),

where g > 0, are two distinct arbitrary pointson H.

0] Prove that the equation of the tangent at P is x+ p’y =6p 2

(i) The tangents at P and Qintersect at T . Find the coordinates of T . 3

(iii) The chord PQ produced passes through the point(0,6) . Given that the equation of
this chord is x+ pgy =3(p+q) find;

(@  Find the equation of the locus of T 3

(b) Give a geometrical description of this locus 1

c) A light inextensible string of length 3L is threaded through a smooth vertical ring which is
free to turn. The string carries a particle at each end. One particle A of mass m is at rest at a
distance L below the ring. The other particle B of mass M is rotating in a horizontal circle
whose centre is A.
(1) Find m in terms of M. 2

(i) Find the angular velocity of B in terms of g and L 2

10



Question 16 (15 marks) Use a SEPARATE writing booklet.
a) Use mathematical induction to prove that for all nwhere ncan be any positive

integer that (a—b) is a factor of a" —b"

b) A car travels around a banked circular track of radius 90 metres at 54 km/h.
(1 Draw a diagram showing all the forces acting on the car

(i) Show that the car will have tendency to slip sideways if the angle at which

the banked track is banked is tan™ Gj .

(iii) A second car of mass 1.2 tonnes travels around the same bend at 72 km/h.
Find the sideways frictional force exerted by the road on the wheels of the car in
Newtons. You may assume gravity = 10 m/s”. (Answer correct to 1decimal place)

3tand—tan’ @

c) (i) Using tan(26+ @) = tan 39, show that tan36 = .
1-3tan“ @

(ii)) Find the value of x for which 3tan™x =~ —tan"* 3x,

where tan* x and tan*3x both lie between 0 and %

End of Exam

11



STANDARD INTEGRALS

.[x” dx = ilx””, n=-1; x=0, if n<0
n+

jldx = Inx, x>0
X
ax 1 ax
Ie dx = —e*, a=0
a

1.
jcosaxdx = =sinax, a=0
a

) 1
jsm axdx = ——=cosax, a0
a

1
J'secz axdx = —tanax, a=0
a

1
_[secaxtanaxdx = Zsecax, a0
a

1 1 1 X
I ——dx = =tan 12 a=0
a’ +x a a
J‘;dx = sin‘li,aio,—a<x<a
Ja? —x? a

j%dx = In(x++vYx?-a?), x>a>0
x? —a

j%dx = In(x++x%+a?)
X" +a

NOTE: Inx = logex, x>0

12



Swim Jp T':D(.«cu( /Mjlxg i5

A C@%&&M}£$2ﬁ

. a = 5

| l
‘/kam% J%)g...

q.

5 B
U{?fl’_&/( occut e C.CmJ/:jg\%ﬂ,
-F@,Ms Sl {\ew{ C'Q-eq[i)[(ﬂ;@

co 5 nen Ahe dloge oF polyromiet

o odddl thart pust oo of [ﬁas]L
[ reod m@‘t )

3*28+3L:)w
tj""ﬁj“:o
( -ﬁ-ﬂf“ = 0

.y

d o faty 24 20 Sle 24 =0

cr

.

4 N
-t (2:&23) = ~2y bz

i

O

= HZUE"éTJ(). Wh—ﬂfx_:f‘(

ﬁ\ %/;2_ Zau'}’j ' Y=
21%25:6)

‘ 6 : '--ﬁafgﬁ@ﬂvmg!



Ceston U

ar, 77
7 2 :(gwf-ﬂ)( I-—z')
=B =

2;%2,_:7"(.

12|

H

oliN

T%‘}'~ Sl {4

5 T - X’l:(—'m
= B30 e 0T
I+

= (e
e

>
=~y ]

K

|2 = |+
[
=
Az

(o)
. 52

P

(1D @w?)“: 544

PRy - Y = B

“'/ .

.Jr
X

5 (

-
-—
oty
——rn
-
—

L



2
i Htly—2
5 =
ey O A =
Qe,(l) o > ===0
L ol = 2560
o K=
1
(1h afj@*l)“% L
gr _ _| 3 _ (3
- b T T
o( m]{eﬂ‘lp}ﬁ(ﬂme_%— /3
SZ{‘ML (4 .
B B 2 (79
V3.
= 2J3 \
=5



Ciy iz Alur™) + 8242
' = A4t 2B4BLT
= pipe+ B+8L”

pt2g= — O
A= 2 '"@
ov 8=l
SvL nm‘o@
B -2=
A=3
2, -1
267
o [lisne [y e Lk tetons
= z A
{’i“CO ‘{_ i_;{“'_C_Q.S,_?‘_‘if.._ iﬁf{ &ec Jﬁ
2
Ap = g2¢ X oy
= 3 —cos 24 " o)
2 icos2A OLL:((H.)
4!
- 3. =t” ot = Tet> ot
= Lk
et . P2
34 ﬂ%—ﬁ {+t

= [ 343> (# ot
(3+30¢ 1) ( it t*)

- [+2¢*
fLW)‘#

fom ot (i)




@U-QS’\\O«H?,
6?) Lo Z,=0 (cos 0 + c'ﬁfﬁﬁ) omd Z= 1) (cos @ {»ze;,me)

2

G,(wsqﬁﬂsmc{?)

r;_(@;:\)d)%(-mv—\(t)\) COSC?—-CSM_L?
"/1 coS@Cos cf) -u;m(ﬁ cons L e @S

P - 5N
5‘@605@695@4‘5”‘@§’“é® ¢ (g";@@“ﬁ—"g’“@m‘“ﬂ]
oo o)
- feosio-6) - L sde-2)

M
Z

E:j = %E&,S@.—@ﬁvwm@”@ﬁ

“(:LSFW@ St :

)

I

() - o

2,

I

C{,‘{ﬁ 2, - afvﬂ £y

b) Lt 4 p ke Hhe ool
D(:E"‘Zi’

9(4{%-?‘:2.

-2 48= "1L

g:’?’"}'l—‘

F2icy (120) =k

k=-2 4ty -0 >
= ¢

pum—



o) 2’4 3{&4@ =0

(1) Lipt)= O
B1gytay = 3P
Kﬁi z -ﬁ

G, R, Bl g (x@w%@&f‘
’ J’%aé’léi/f‘- <

= @,g.“gaq J’at)?—"‘ 2(&\343“' .Y L+ {JJ'..FL)

«<B¥
- Gpr=2f e <nltype)]

-

714
: @fﬂl-lfaoeé’(dg-:-yﬂ
T xpr
= G0
i/
@ﬂ_;
14

0 g Vs« b
oLRY
= ol (1D
LBy
;0&2{-32{‘ y"
= %%ﬁ-}}') L 2,(&(?4 Y+ (ggj
= 2= 2(3)

._._,ép

(v (9 > Bum o cwols - 37 ot q,l’:'xiaépw4-i =0

in g>§vmoy(' (‘GO‘)L
2 d &‘!Hw@- _6P

P.roc;{.uu{' of f‘cm][;
3"){ G&X&d = &’(BX

4



/
( 3-2(31x (3 + W h

= 4(3-}1) t 5(3"’(*)

= é‘['n‘f"‘lhlj

.
& . o | g Sec © (mﬂ@)dg ;
3 tone +sec®& |
S'in 5)

Is ('F'Cih@*'JeCG).]
. 4

2 2.
O h('” ‘Bj (&) [ [y /

2 i A e 3

t 2 23 E 3 [ Z‘ﬁ] Ay

W

-



Queshion 13

62.({') p LS “T{,}'“—"-‘:Ll‘~';(_

2'1’)*"’1“3 =)

(3t)(2x-3) =0
v/ & :«-—.f} }i

- X Coord 01{) \Qfs ~|
(as P is tn 2ad Tuaciwg

L = (%“%L) -*(X'Z"j(’)
= Bro-2x

[/g)&m_e_ g)\/: f/ﬁl\
!V: 1W{l-—x}(3%x*2ﬁ)5x

i

V= dm 2 ar (324 Jx

guro

£
- Zﬁf F—Zy “%x,lfIZ/JL}ech
~1



1!

a-f
%&i—; X
Py

~¢
V= ~-¢



c) (D (b0
6224bth 2 O
a lal 2 ZauL)

(') a({-\,_%,,lcﬂ E(%%@@é} +c,(ate1{;+~¢(-) 29

He,
L H‘%{‘%‘i‘f?‘%{.%‘f‘l%—%{,%

t b a2, ¢ b <
StRrE Tttty

- T
2 34 24b
SR 3
2 q

4)

51 e l%1+2L( =1z =2 |

\Ac| = [og]

0Aa RC s « PWJQ/(UJM with ecrwuf O(Lajmu/&

nl s & NC/{GVVﬁIQ,
C LAoc w ix/ljw Wy(i

L roc— [ﬂ-Oﬂ :"?09

v ijﬂ'ﬁa’ﬁ&l:%u



Ques%on tH

Y
() 1
)
i
(44 . ‘ ~,
- 32 ’
pA
(3
(-3
(1Y Ja
(c2,-%) e
¢1J’I‘T

Lj:: xa" .3_3(_1}
2

Vs
d = 3t 3t

Let xd/ ro
03> 3¢
O-—'(’:’ax(—;t.-—!)

HEC o K=

4= g7 (=)

.1
'

Sy (4,4



@)

//..1
e

3?&

&

(V)




(D Tn AADT wdl ARBC

L b=LDCA tnfhe '
A LD (cM:jiL M:ﬂ':\:ﬁagejmwg
LDeA = LcpR Cdkfnm!-t anglis on w«u[&/{ lines D ot AB
b

anhe_
L TAD = LCAB Cdlﬂjl{/)

fodere A
L TDA= L CBA (e,xizuw of a CY{tc. qvm{f
\S C:(vajmij “H\ﬂ_ r..\a[-e,(lcs{ aﬁaf)cvéc (Mjé)

- AADTHI ARBC (fwo Mj[u i~ O -!A,M'jét Pyl %w-/{
1o 4uwo :MJ(@: ondle allL&/,

(“'9 Tet L1OM =50
LTAM=2C (cwjém ke same ajm e fius\/()
LomA =2 ((htemads a,@,@ o PW.L{M [u\.ts T0 pndf

AM Jr VY e %uu)
. Lo = LomA
T A omdA g lSasc,e/[ZJq MZL
) exter U[tf. a!ﬁff‘{ a/{ Y ecpval
(!‘/) LTmA = £ TDA (.aPPC::é%mA &j o a: géjjm cT /
+EDA 07 cn g (%&ml& o c'f]“' 7uwfﬂ L&mf
are. 5 epplemunte
s LEBATIRO —TmA 0 ¢ B ”TM e condenor an[Qg Ot

- TmBC s me«Mang-\ o TME CB (oppeste sxglefs.@ Mv@&ﬁ%f”’



@iggihon (5

(ﬂf) / -,u;m:f-
| ¥ cos*
o]

ir

LTI

Iteos> (v

= Tt Y s
fg———tf_j—— Sme 5 (ﬂ"—y.)f-‘s:n’){.

anol chm@"’“): (-cosa)™
—cosn) = LN
_ ) Cot "y
Ts
ot » X SimAf
1+, Y38 .
o 5 tF cos®t ot
‘: 2/) ')L;mo( /frf:ﬂ)(
o ttcolr T e SL M
»rf’
. / W S f S0
‘a [+ copn O F 3 Fcodr

= -1 -l ' of
oY [‘IIWY\ éosgt)]a Sinee ﬁ@asly?‘fﬂ”?(.

3 -
q-f=
PY-3e="~



(prg) == 6pletgd-6p™
(P97 = be™ by, 5P
o= %&i%_/
P*ﬁ) P“p)
Oi'}) xtPeY = 3([’*?)
svb (0,6)
6 g 3rPry)

4ot
Ty é

x*é@% j" IO*T/

=2 Y~© ‘D%p
TG, )

2 X=13 .

‘ L 23,
verh el ne passizy 4!W7



J o T»r P
W L. e A "ib‘g_‘
e
3 3L A Mj
=g
vwhm‘? TS‘M 30r= MJ
=7=My
&7 imj = Mj
m=2M

L\ort?,ow)‘alﬁ ng%: MPU\)% _
%m\j :M\EL)W

Zug=(ZIEDW

T



Ques%zoﬂ b

e e ettt

»
”Te‘s% [9' TIS'

&"b 1S a—,patvfw of OL,""E‘

Pssume Hrve ‘[ar n =k |
ak_ b= (a—b){: e, F 15 @ !mﬂl—?\jw

Aest dcofn«"kH i
kel gk 2 aktl ﬁ"’Li-a%-bk

ala-p) +b (a k*-é}j
éll{(ahé) 1 L(ﬁ" éj F (‘(mm assvwﬁrm)

—

]

i

(C»L“L) (ak‘—\JD F) L}
S ince [a'“{-EFj Is anothoe IooLfnom:uJ i~ a el

we  hare Show what e cot ot o pIOWE .
YT /\/"NWW"( ﬂe«,u{rm

b (;‘) 5
) o, | Q -F:>‘ £~ G;cf\M forn
ol \é mj M@ - WEAJH

Ncos o = F«;moewﬁ
NC@SO&-" )(gmo(_:rvj _,__CD
Honlam’fq/(!? f\)s'mo({- 1[-(0503: ﬂ\:\f_l @

g‘cﬂ\ @ NCOSG‘L‘SH!.D{ — F’Sw\lad_ = m(j Ca el @
M@ N‘;“'IOLCQSM + FC@S.LG&-‘-‘ T—(—V—\-LCC)SOL @

7

(i vmhw@

@'@ F@bsﬂ-ous”ma&): T;\/"Lcosag»,«:f;m&
C o= mvr
oS M*VU 2in o, ﬁ%



Qi'a

No §m(uvd7 gﬂp o L =0

2
maq S £ = Y
J Nalkadie
tam . - v
N
5‘{’)“000 -
s T Mg =50 ‘
orpe
IS
tan ol 2 92010
- 2
9o

=g
&:{mx‘f@

now F_-?mCosak()_{ri’_ Lo o

boxde "FS

= Ysoo0 oo o

v 0 T
= Yoo (?00*‘{-3"0

V17 tfo
~ Y4500 3w

Vi A (o
= 2243-445~. .



()

3 = ot 3G
@
Jex L7 3 o
Y lum®@ ~ T’ @ (ﬁ%(i))
) =% > )
3y = = (& i
%Léjt_-x")‘) = [—’37(,%
Qu= 3 =132
21122 t1=0
>~ 6%J33
3
= &i‘&



	Trial 2014
	ext 2 solutions

